MPM1D

Day 9: Converting between Fractions, Decimals and Percentages

Date:
Unit 1: Number Sense

1) FRACTION TO DECIMAL
Just divide the top of the fraction by the bottom.

Solved examples:

320.75
4

— =0.636363...
11

2) DECIMAL TO FRACTION

Express as a fraction with denominator 10, 100 or 1000 etc. so
that the number of zeros in the denominator matches the number
of digits to the right of the decimal point in the decimal
number. Next, reduce the fraction to lowest terms.

Solved examples:
018~ 18 18 9

100 50

0.0124 - 124 124~ 31
10000 2500

2464 308

2464 =" 222
1000 125

TRY — Convert each fraction to a decimal and round to
two decimal places.

49= O .y44 = Oyy
37=94L86= 0.4%

TRY - Convert each decimal to a fraction.

0125= 115 @CFpgs 1254925 _ 1

loco (000 425~ &
350= 39Q ok 37 GLi§ 71 5‘-_'7_‘
| 0o lo lo £ 5 [=

3) FRACTION TO PERCENT
Convert to decimal, then multiply by 100.
Add % symbol right to your answer.

Solved examples:
% =0.5-> 0.5x 100 = 50%

% =10.75 > 0.75 x 100 = 75%

4) PERCENT TO FRACTION
Write the percent over 100 and get rid of the % symbol.
Reduce the fraction.

Solved examples:
25% = 25/100
=Y,

125% = 125/100
=5/4

TRY - Convert each fraction to a percentage.
18= 0 125 — Olasxloo -~ /2.5

04=225 —p ALT X100 = 215/

TRY — Convert each percentage to a fraction.
100% = loo  _ 1

i\'ag
—_ o 3
0N= — =

5) DECIMAL TO PERCENT

Multiply by 100 and add % symbol right to your answer.

Solved examples:
0.08 = 0.08x100% = 8%

0.345=0.345x100% = 34.5%
6.7=6.7x100%= 670%

6) PERCENT TO DECIMAL
Divide by 100 and get rid of % symbol.

Solved examples:
68%=68+100=0.68

128% =128 + 100 =1.28

TRY — Convert each decimal to a percentage.
1.00= [ 00X (00%= 00V,

0.125= 0125 = ooy, = [2 .5V,

TRY — Convert each percentage to a decimal.
200% = 200 L(oo = 1

0.050% = 095 + los = 0.000T
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Fill in the missing information in the chart.

Reduced Fraction Decimal Percent
2 1400 = 0.99 9%
oo
Ccray 125 -5 oo 4l (25 tiee = 125 125%
(F-—4 q |
oF:y 283 _ _F 0.28 0.29x\oov. = 28V.
oo 15~
§Far 35 _ 4 0.025 002500y, . 257
lec- bo
g 51920625 Q625 loov. - 625
1 1:3 -0 33 0-33x 007, = 33
3
G :"ﬂ:ﬂ- 57 Zlpo. 0059 1
CF=% foo 700 -loo = 55% 0 5.57.
(o0 < '
2 =1 0.002 9 002.xl0ooy, . 0.2,
|ooo Soo
cuE= I{C'?? - _ﬁ% 1075 1035% ooy, = 1025y
o= ——_-"“--—--'"—"'-—-..__
12 T Yh4i- 092 Q2.
13
51 _ 16 l\-',-'& = 9.33 533y
3 3 ’
THINKING

The book value of 1000 stocks is $18,000. The market value of the investment reaches $22,500 in a year.

a) What percentage of the original investment is the profit?
' Book Value:
Of(j ingl [nvetrent $Ig00 . Total cost of a
certain number of
Current vQlue of oc'ving| ravestaeat 4 22,500 stocks when
The offgenc (s etk /os;ﬁif‘ 1{1;- vg) ; P(pf.}(:i{,(?‘é);ovC) purchased.
- = S5 00 —
2‘2-"900 ff,o‘:o = $4/}§0'°_ d}/ zroa ofdzyc,og -~0125 = 23 r, Market Value:
b) How many stocks does the investor need to sell that would be equivalent to the profit Total cost of a
amount? certain number of
Puichoe Fria = 189°0 =20 = #’Vl Shore stocks when sold.
Cucet- Pf"ﬂ- = 2590 +joco — 5‘22"7’ =h
are
pumbe, of stocks = —1°2= _ 900 stocks o The lheotor peods Ao sel
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